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Q 1. A metallic ring is attached with the wall of a room. When the north pole of a magnet 

is brought near to it, the induced current in the ring will be 

 
(a) No current induced   

(b) In clockwise direction   

(c) In anticlockwise direction    

(d) Depends on magnitude of current 

 

Q 2.  A bar magnet falls with its north pole pointing down through the axis of a copper ring. 

When viewed from above, the current in the ring will be 

 (a) Clockwise while the magnet is above the plane of the ring and counter clockwise 

while below the plane of the ring.   

(b) Counter clockwise throughout    

(c) Counter clockwise while the magnet is above the plane of the ring and clockwise 

while below the plane of the ring.  

(d) Clockwise throughout  

 

Q 3. The horizontal component of earth's magnetic field is 3 × 10−5 𝑊𝑏/𝑚2. The magnetic 

flux linked with a coil of area 1 𝑚2 and having 5 turns, whose plane is normal to the 

magnetic field, will be 

(a) 3 × 10−5 𝑊𝑏    (b) 5 × 10−5 𝑊𝑏   

(c) 15 × 10−5 𝑊𝑏    (d) Zero 

 

Q 4. A square coil of 600 turns, each side 20cm, is placed with its plane inclined at 300 to 

a uniform magnetic field of 4.5 × 10−4 𝑊𝑏/𝑚2, Find the flux through the coil 

(a) 35 × 10−5 𝑊𝑏    (b) 54 × 10−4 𝑊𝑏   
(c) 51 × 10−5 𝑊𝑏    (d) Zero 
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Q 5. A coil having an area 𝐴𝑜 is placed in a magnetic field (plane of coil is perpendicular to 

magnetic field) which changes from 𝐵𝑜 to 4𝐵𝑜 in time interval t. The e.m.f. induced in 

the coil will be 

(a) 
3𝐴𝑜𝐵𝑜

𝑡
   (b) 

4𝐴𝑜𝐵𝑜

𝑡
   

(c) 
3𝐵𝑜

𝐴𝑜𝑡
     (d)  

4𝐴𝑜

𝐵𝑜𝑡
 

 

  

   

Q 6. A coil of area 10 𝑐𝑚2 and 10 turns is in magnetic field directed perpendicular to the 

plane and changing at a rate of 108 gauss/s. The resistance of coil is 20Ω. The current 

in the coil will be 

(a) 0.5 A   (b) 5 × 10−3A   

(c) 0.05 A    (d) 5 A  

     

Q 7. A coil having an area 2𝑚2 is placed in a magnetic field which changes from 1 Wb/𝑚2 

to 4 Wb/𝑚2 in an interval of 2 second. The average e.m.f. induced in the coil will be 

(a) 4V    (b) 3V  

(c) 1.5V    (d) 2V 

  

Q 8.  A magnetic field of flux density 1.0 Wb 𝑚−2 acts normal to a 80 turns coil of 0.01 𝑚2 

area. Find the e.m.f. induced in it, if this coil is removed from the field in 0.1 second 

(a) 2V    (b) 4V   

(c) 0.8V    (d) 8V 

 

Q 9. The magnetic flux linked with coil, in weber is given by the equation 𝜙 = 5𝑡2 + 3𝑡 +
16. The average induced emf in the coil in the fourth second is   

(a) 38 V   (b) 30 V   

(c) 45 V    (d) 90 V 

  

Q 10. The magnetic flux linked with a coil is given by an equation 𝜙(in webers) = 8𝑡2 +
3𝑡 + 5. The magnitude of induced e.m.f. in the coil at t = 4 second will be   

(a) 16V   (b) 39V  

(c) 67V    (d) 145V 

  

Q 11. A circular loop is placed in magnetic field B = 2t. Find the direction of induced current 

produced in the loop 

 
(a) Clock wise  (b) Anti-clock wise  

(c) Can’t determine (d) none of these 
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Answer Key 

 

Q.1   c Q.2   c Q.3    c Q.4    b Q.5    a 

Q.6    d Q.7   b Q.8    d  Q.9    a Q.10   c 

    

Q.11   b 
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